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,-,.fS)Iope Intercept Quiz Review

Given each equation of a line, find the slope and y~intercept.

1 y= ix 2. y=-5x—-6
3 S
Slope: _ Slope: _ |
y-intercept: O y-intercept: —L’

Using the graphs below, write the equation of the line.
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Slope = _ 3 - _ Slope = _ ad

y-intercept = Y y-intercept = _ "a

~ jation = U= x+Y Equation = _\M = "T2x-2%



——"—6raph-each-line-on-the graph-provided.

,,F-\P yzgx—S 6. y=—x+4

A 2

i+ +Usingthe tables:below, find the slope, the y-intercept, and the equation of each line.

-
- Slope: I L‘
y-intercept: __ 5 _ y-intercept: W
Equation: _ U = ) Equation: _\ = ~Hx 4+

N



9. Is each ordered pair-a solution of the equation y = 4x—1?—Show your

~work and write yes or no on the blank provided.

") e (0.4 ta. _NO

Y =y (o) ~i

4 = 0~

o # -l
b. (2,7) - 1b, \(LS

1= 8-i

1=
c. (-1,-5) lc. \fu
-5 = qL-) -

-+=10Q:-Find the solution for the equcﬂ'ion below when x = -3. Make sure your answer is an

+7

ordered pair.

y=-2x+6. 10. WZ’M '(’31'2‘) |
j': —2("'3)-}(0

= +4 b

js#lo’)

“ For #'s 3 and 4, find the slope of the line through each pair of points.

1. (4,1 (-4,3), 11. Undefined
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12, (0,-2) (7,2) 12.
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—="—13. You really want to start your own-lawn mowing service for the summer. You have decided
' you will charge a flat rate of $8 per yard and an additional $5 per hour. FiaA e 4'1u.¢—h'w\.
+o vepre fert 4 amowt o mom.j dm WO A .°hwd‘ for o Syl tawn
) a. Define your variables owed,

X= o 0fF howel
= 4ot monty earme A

- b. Write an equation to represent the situation.

Y= Sx +E | _ -

~ ¢. 6raph the equation.
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d. Circle the y-intercept on the gr'dph.

e What is the slope and what does it represent in this situation.
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